00 2100 000000000 1/0000 0000

Oo000:20090 70 280 (0)600
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OoO0bO:00000000bObo0ooobooopCcO00ODbOOODODObDOOO
gboogbdoobobobobboobooboobooboobooo

gbooooooooogoboon

010 000000000000 10002000
le 0000000000000 000O0D obDO 200
U0ox0O l6e00b000boOoOobOOoOoOooooooan
oooobOiooobooooooo

(1) O 0x47 + 0x25 (2) 0b110011 + 0b100111

020 0DooOoooOooooooo

1: i =0

2: while i < 10

3: if i ) 3 ==

4: printf("/%d OO OO \n")
5: else

6: printf ("%d \t")

7: end

8: i+=1

9: end

(1) 0000000000000 100000000
(2) 3000000000000
(3) D00O0O0O0O00D0

030 000000000 novel.dat O0ODODO

goood 0Oooooocooo
oo oo
oobog Dbooooo

100000 storyD200000 heroOOOODO
gbooobooaooon

(1) OO0 story00OOUOOOOOOOOODOO

(2) while 0O OO0 Onovel .dat 0000 0O Ostory
Uhero00O00O0O0OODOOOODODODOOODODO

(3 D0O0U00O0OD0O0OO0O0OUODOoOOOooUOoo
goo

(4) hero[1] DOOODDOO

(5 000000000000 KtermOOOOOOOO

040 5000000000000 dataO0O0O0O0O
gboboobobooboboboboobobon
gobooboooooooboobooboooog
ooogoo

oooooo

(a) datal[0] 0 data[1] 00000 0datal0o] 00000
000000000000000 datal1] O datal2]
00O000datal1] 000000000000000
0 datal4] 0000000000 data[d] 00000
oooo

(b) OO datal0] 00 datal3]1 00 (2) 0000000
0 datal3] 00 200000000000

(¢ DODOOODOO

goooad

data = [10,4,6,8,2]
i 0
j 0
number = 0 # JO0O0OOOOO0O
while j < data.length-1
while i <
if datal[i] > datal[i+1]
x = datalil
datal[i] =
datal[i+1] = x
end
i+=1
number += 1
end

g1
end
p data

(ool o |~ 0 |ooooo

(2) 0000000000000000 number 00
0ooooo

(3) 000D0000000000000

(4) data = [10,4,6,8,2,91 00000000000
0000000000000000 number O 0
000000000




